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(3 Hours) | Total Marks : 80]

B.: (1) Question No. i 1s Complusory
(2) Attempt any three guesitons from the remaining
(3) Figures to the right indicate full marks.
(4) Assume suitabie data 1f required

w

(5) Use Smith Chart For transmission line problem.

M \f\u"(b |+ 2

. (a) Test for following polynominal using continued fraction expansion only

20
P(s) =P +25%+3s" +4s° + 35" + 25 +1
(b) Obtain s-domatin equailant model at inductor and capacitor with non-zzr¢ intial condition.
~ (c) Theparanelex ota Uansrmssmn rﬂy ouE| k.r(;
lineare G=2.25m Q/km < - C/":"O | ]
R=650/km,L=1.6mH km, C:._l 1 F/km
find charterstic impedance and the propogation constant ci the line at a trequency
of 1 KHz. .
(d) The ploe -zero diagram of driving point impedacne tuntion i1s shown At d.c. the mput
inpedance is resistive and equal to 2 () Determine value of R, Land C.
'éL ‘jw gqnis -
P
8
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(b) Findi (), 1, ()andi (yate U

8
[ 6V
(c) Compare Foster form I and Foster Form Il of an LC N/W 4
6s(s” + 4
Z(S) :( 2 Sg( 2 )64)
s“+1)(s” +64) -
M e Hu'h

3. (a) Design a short circuit shung/stub match for 2. = 150-200j () foraline o1z - 190 Q) g

and frequency at f = 20 yhHz use Smith chart. -
(b) Obtam Power associated with dependeut voltage source by using Nodal analysis. g

(¢} Explain various typeS of filter's 4
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4.

(a) Obtain hyprid parameter of the inter connected network.

[OA g A 4_/(

+ Vol ™

(b) Obatin v(t) fort > o Use Laplace Transforr rnethod.
| H - (L

1 ( ¢

\~-
R ft=7

4%
K% SE) Wb
Vol /5 -
| l
5. (a) Checr forp.r.t.
, ,
2) F(S)é‘: 25 +225+l
S }3-{-228 + S+ 2
S+ 25+ 1
b) FK(s)=
) FE) $7 + 282 + 25 + 3
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-}

- {0y ind current flowing in both corls. i applied input voltage is v ()= 230 /»
sin [ 5000 t-30°]

] CL -

). {C) Obtain pole -zero plot for L i l 4

6. (a) For the Network shown beiow determine R, tor maximum power transfer and also

determine PL

.
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0N =
A :
BV é )
Volbs-
6. (b) Find1 (1), 1, (t) diéit) and di(llit) and difh(t) at t =07 1f switch k 1s 0y-2ned at t=0
. ,t.: \)
on. WV Ht
T - G 'S ' .
_ . . gA -
/ . ( )
s A =0
N .
TN | G’J <> 2
. () ) = s =
— J @ / —

6. (¢) Compare Cauer form I and Cauer form I1 for RC N/W
4(s +1){(s+ 3)

S(s +2) ‘L

z(s) =
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